
78-20502-01 MX300 Floor Stand Installation Sheet | 2011 NOVEMBER | © 2011 Cisco Systems, Inc. All rights reserved.

Installing Cisco TelePresence MX300 - Floor Stand

2� Unpacking the MX300 box with the LCD video unit, Touch controller and accessories

i	 Cut the straps and lift off 
the outer covering.

ii	 Remove the upper foam 
protection.

Note: Leave the LCD 
video unit in the bottom 
tray for now.

iii	 Lift out the rectangular 
box behind the LCD video 
unit.

This box contains two 
smaller boxes: One with 
the Touch controller, and 
one accessories box with 
the microphones, cables, 
screws and screwdriver.

Bottom tray

LCD video 
unit

Touch controller  
with cable

Accessories box:

�$��Two microphones

�$��Power cable 

�$��Presentation cable  
(VGA to DVI-I; stereo audio)

�$��Ethernet cable

�$��Four screws for fastening 
the LCD video unit to the 
floor stand

�$��Hexagonal screwdriver

�$��Two pairs of gloves

1� Unpacking the floor stand box and mounting the floor stand

i	 Unpack the floor stand box with the floor stand 
base, floor stand column and floor stand covers, 
screws and Allen key.

ii	 Place the floor stand base on the floor with the 
cable channel facing upward and backward.

iii	 Raise the floor stand column with the cable 
channel facing backward. Place the column 
on the base and make sure the holes for the 
screws are aligned. 

iv	 Fasten the column to the base using the four 
screws (tool: Allen key). 

The two floor stand covers 
will be mounted in step 6.

Floor Stand Base Screw (M6 x 16 Black)
Main Unit Screw (M6 x 20 Black)

Floor Stand Base Screw (M6 x 16 Black)
Main Unit Screw (M6 x 20 Black)

Floor Stand Base Screw (M6 x 16 Black)
Main Unit Screw (M6 x 20 Black)

Floor stand 
base

Floor stand 
column

3� Mounting the LCD video unit to the floor stand

Cable channel lid 
(for strain relief)

Floor stand

LCD video 
unit

Note: Always use the provided gloves when handling 
the LCD video unit to avoid stains on the unit’s surface.

i	 Lift the LCD video unit from the 
bottom tray and slide it onto the 
top of the floor stand column. 
Two people working together are 
required for this operation.

ii	 Remove the cable channel lid (see illustration) to 
get access to the holes for the screws.

iii	 Fasten the LCD video unit to the column using the 
four screws (tool: hexagonal screwdriver).

The MX300 delivery

The MX300 with a floor stand is delivered in three boxes 
with the following parts:

�$��Floor stand column, floor stand base and floor stand 
covers. Screws and Allen key

�$��LCD video unit, touch controller, microphones and 
cables. Screws, screwdriver and gloves

�$��Back cover

Manpower

Two people working together are required to mount the  
LCD video unit to the floor stand column. 

Dimensions

Height (without camera): 1420  mm / 56  in.

Width: 1290  mm / 51  in.

Depth: 730  mm / 29  in.

Weight: 42  kg / 93  lb

Documentation

The user documentation for this product, including 
compliance and safety information, is available on the Cisco 
web site, http://www.cisco.com/go/telepresence/docs .

Outer 
covering

31 kg / 68  lb

Floor S
tand B

ase S
crew

 (M
6 x 16 B

lack)

M
ain U

nit S
crew

 (M
6 x 20 B

lack)

Floor S
tand B

ase S
crew

 (M
6 x 16 B

lack)

M
ain U

nit S
crew

 (M
6 x 20 B

lack)

Floor S
tand B

ase S
crew

 (M
6 x 16 B

lack)

M
ain U

nit S
crew

 (M
6 x 20 B

lack)

Floor S
tand B

ase S
crew

 (M
6 x 16 B

lack)

M
ain U

nit S
crew

 (M
6 x 20 B

lack)

Front




